Turniej nr 10 dnia 3 pazdziernika 2013

Turniej 10 osobowy Wynik meczu Tabela
I runda Pozycja Punkty Sety
Michat - Sylwek 0 : 2 1 Heniek B 9 18-0
Janusz - Adam Jo 0 : 2 2 Andrzej B 7 15-5
Heniek B - Heniek U 2 :0 3 Tomek 7 15-7
Tomek - Mateusz 2 :0 4 Adam Jo 6 12-6
Andrzej B - Rysiek 2 :0 5 Rysiek 5 1-9
6 Heniek U 4 8-12
Sylwek - Rysiek 0 : 2 7 Sylwek 3 6- 13
Mateusz - Andrzej B 0 : 2 8 Janusz 2 7 - 15
Heniek U - Tomek 0 : 2 9 Mateusz 1 4-16
Adam Jo - Heniek B 0 : 2 10 Michat 1 3-16
Michat - Janusz 0 : 2
Janusz - Sylwek 1 : 2
Heniek B - Michat 2 :0
Tomek - Adam Jo 2 :0
Andrzej B - Heniek U 2 :0
Rysiek - Mateusz 2 1
Sylwek - Mateusz 2 :0
Heniek U - Rysiek 0 : 2
Adam Jo - Andrzej B 0 : 2
Michat - Tomek 1 : 2
Janusz - Heniek B 0 : 2
Heniek B - Sylwek 2 :0
Tomek - Janusz 1 : 2
Andrzej B - Michat 2 :0
Rysiek - Adam Jo 0 : 2
Mateusz - Heniek U 1 : 2
Sylwek - Heniek U 0 : 2
Adam Jo - Mateusz 2 :0
Michat - Rysiek 0 : 2
Janusz - Andrzej B 1 : 2
Heniek B - Tomek 2 :0
Tomek - Sylwek 2 :0
Andrzej B - Heniek B 0 : 2
Rysiek - Janusz 2 :0
Mateusz - Michat 0 : 2
Heniek U - Adam Jo 0 : 2
Sylwek - Adam Jo 0 : 2
Michat - Heniek U 0 : 2
Janusz - Mateusz 0 : 2
Heniek B - Rysiek 2 :0
Tomek - Andrzej B 2 1
Andrzej B - Sylwek 2 :0
Rysiek - Tomek 1 : 2
Mateusz - Heniek B 0 : 2
Heniek U - Janusz 2 1
Adam Jo - Michat 2 :0
Cwiercfinaty
Heniek B - Janusz 2 :0
Andrzej B - Sylwek 2 :0
Tomek - Heniek U 2 :0
Adam Jo - Rysiek 2 :0
Miejsca 5-8
Janusz - Rysiek 2] : M
Sylwek - Heniek U 1 : 2
Potfinaty
Heniek B - Adam Jo 2 :0
Andrzej B - Tomek 0 : 2
Mecz o miejsce 9
Mateusz - Michat 2 :0
Mecz o miejsce 7
Klasyfikacja koncowa
Rysiek - Sylwek 2 :0 Przyznane
MOTD punkty
Mecz o miejsce 5 1 Heniek B +1 10
2 Tomek 9
Janusz - Heniek U 2 :0 3 Andrzej B 8
4 Adam Jo 7
Mecz o miejsce 3 5 Janusz 6
6 Heniek U 5
Adam Jo - Andrzej B 0 : 2 7 Rysiek 4
8 Sylwek 3
Mecz o miejsce 1 9 Mateusz 2
10 Michat 1
Heniek B - Tomek 2 :0




